Day 3 Maths Starter

frue or Fallse ? Divide with remainders

If you divide any number endingin a2 or a
7 by 5, you will adlways get a remainder of 2




Day 3 Maths Starter Answers

frue or Fafhse ? A

True

Any multiple of 10, 100 or 1,000 will be divisible by 5

so additional ‘ones’ will always be remainders.




Day 3 Fractions of amounts: finding the whole

Video Link: https://vimeo.com/480708847

1) 20 is 4/7 of what number?

20 is worth 4 parts.

First, you must find out what 1 par*ys worih.

One part is worth 5 (I got thic'oy dividing 20 by 4)

If one part is worth 5, then what is 7 parts (the whole amount) worth?

The whole amount is 35 (I got this by multiplying one part, 5, by the number of parts there are, 7)


https://vimeo.com/480708847

Have a go at these as a practise.

2) 6 is 2/5 of what number?

3) 38 is 2/3 of what number?

Answers are on the next slide.



2) 6 is 2/5 of what number? =15

3) 38 is 2/3 of what number? = 57/



Use these if you want a bit more practice.

4) 46 is 2/5 of what number?

5) 80 is 2/3 of what number?

6) 40 is 2/5 of what number?

7) 49 is 7/8 of what number?

Feeling confident?

Slide 8 is 1 star

Slide 9 for answers
Slide 10 is 2 and 3 star
Slide 11 for answers



4) 46 is 2/5 of what number?

5) 80 is 2/3 of what number?

6) 40 is 2/5 of what number?

7) 49 is 7/8 of what number?

4 =115
5=120
o =100
/=56



o Complete the caloulations.

18 ?
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What is the same abouwt the calculotions?
What is differant?

o a) Mr Hall walked %ﬂf the way frem his house to work.

He walked & miles.

How far is it in total from his house to work?
?

B miles

b} lenny cycled %ﬂf the way fram her house to work.

she cycled 168 miles.

How far is it in total from her house to work?
?
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e Calculate the missing wholes.

aj c)

L - A
75 45

b) d)
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120 231
° Fill in the missing information.

a) ~ of =20 b) 80 = % of
3 10
2 - -4
2 of =20 800 = - of
4 = =4
4 of =20 g=of
4 - .
4 of =120 80 = - of




Fraction of an amount - find the whole

o Complete the calculations.

A 1 o[ 5

What it the same about the calculations?

What it different?

o a) Mr Hall walked %nf the way from his hause to wark.
He walked & miles.

How far it it in total from his house to work?
7
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b) Jenny cycled ¢ of the woy from her house to work.
She cycled 16 miles.
How far is it in total from her house to work?

a)




Fraction of an amount - find the whole

o Calculate the missing wholes.

a)

o Fill in the missing information.

a) 1 of =20

o This diagram shows the fractions of trees in school grounds.

o
\ . A+ _h__ AT

There are 40 elm trees. How many of each other type of tree is there?

e lack p{:LI'Ed l of a tin of paint into this jug.

How many millimetres of paint are left in the tin?

o Complete the calculations.

d= of

Compare your mathod with a partner. Whot do you notice?



o Fill in the missing information. 0 ok poured %ﬂfu tin of paint inte this jug.
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How many millimetres of paint are left in the tin?

o Complete the caloulotions.

L 1
2

There are 40 elm trees.

Complete the table. o g

Compare your methoed with a partner. What do you notice?




